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Multiplication Table - 20x20

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
iumu»mmqmmpotssl_.ipmzs.;amz
2 2|46 |8 |10[12]14|126[18|20]22[24]|26|28)|30|32|34|36|38]40
3 3|6 |9 12|15|18|21|24|27|30|33[36|39[42|45)|48|51|54)57)60
4 4|8 |12 16|20 24|28 |32 |36 |40 (44|48 |52 |56 |60 |64|68)|72)|76 |80
5 5 |10|15]20|25|30| 35|40 45|50 |55]|60|65|70|75]|80 |85 90|95 100
6 6 |12 |18 24|30 |36 42|48 |54 |60 |66 |72| 7884|9096 102108 114120
7 7 |14 |21 |28 |35 |42 |49 |56 63|70 |77 |84 91|98 |105/112|119|126|133 140
8 8 |16 24| 32|40 |48|56|64| 7280|8896 |104/112|120|128|136|144)|152]160
© 9 |18 |27|36|45|54|63 |72 81|90 99|108|117|126|135|144|153|162| 171|180
10 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 [100|110|120(130|140|150|160| 170|180 150|200
11[ 11 | 22 | 33 | 44 | 55 | 66 | 77 | 88 | 99 |110(121132|143|154|165|176|187)198|209|220
12|12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108]120(132|144|156|168|180| 192|204| 216228240
13] 13 | 26 | 39 | 52 | 65 | 78 | 91 |104|117|130]143|156 169 182|195|208 | 221| 234|247 260
14| 14 | 28 | 42 | 56 | 70 | 84 | 98 | 112|126(140|154| 168|182 196|210 224|238 252|266 | 260
15! 15 | 30 | 45 | 60 | 75 | 90 | 105]120|135|150| 165180 195|210|225| 240|255 270| 285|300
16 16 | 32 | 48 | 64 | 80 | 96 |112|128]144] 160 176(192|208|224|240|256|272| 288 | 304|320
1717 | 34 | 51 | 68 | 85 [102[119[136]153170| 187 204| 221|238 255|272 289 306|323 340
18[ 18 | 36 | 54 | 72 | 90 | 108|126 144162180 198|216 |234|252| 270|288 306 324342 | 360
19119 | 38 | 57 | 76 | 95 [114]133[152[171[190|209| 228|247 266| 285|304 323| 342361 350
Na__ 20 | 40 | 60 | 80 |100|120|140|160{180|200|220|240|260|280 300|320 (340 360 | 380 |400




Name :
Teacher :

Score ;

Date :

46
+ 31

35
+ 54

13

25
+ 33

31
+ 25

48
+ 41

54
+ 14

72
+ 26

64
+ 24

33
+ 35

24

/8
+ 21

15
+ 22

52
+ 41

43
+ 36

50
+ 49

12
+ 81

+ —| Math-Aids.Com
X | Addition Worksheets



Name : Score :

Teacher : Date :
$57.47 $25.67 $31.77 $24.12 $65.27
+$42.52 +$13.11 +$33.22 +$12.34 +$32.71
$46.38 $65.47 $27.86 $64.78 $38.31
+$32.21 +$24.21 +3$11.12 +$31.11 +$11.53
$11.54 $44 .84 $87.47 $36.18 $28.88
+$85.21 +$35.12 +$12.51 +$32.71 +$11.11
$48.58 $31.88 $21.33 $24.11 $42.28
+3$31.41 +$25.11 +$72.63 +3$43.76 +$22.11
$83.27 $25.14 $23.53 $34.72 $35.85
+$14.21 +$33.34 +$23.12 +$53.11 +$23.14

+
%

=| Math-Aids.Com
Addition Worksheets

S



Name:

< Addition >

12 5 6 8 12
+ 7 + 12 + 9 + 10 + 8
8 12 9 8 4

+ 11 + 9 + 5 + 6 + 6
6 10 10 9 4

+ 7 + 10 + 6 + 9 + 4
5 4 5 11 12

+ 6 + 9 + 4 + 12 + 4
5 9 6 7 7

+ 11 + 8 + 11 + 8 + 4
Time: minutes  Score: out of 25

Created using the Basic Addition Worksheet Generator on
Super Teacher Worksheets {(www.superteacherworksheets.com)




Name:

< Adding Columns >
Find the sums.
a. 7 b. 5 c. 9
3 [ 3
+ 2 + 5 + 3
d. 4 e. 8 f. 1 g. 9
5 8 6 9
+ 2 + 4 + 8 + 9
h. é i. 5 i 7
0 2 9
+ 4 + 3 + 5

k. Mike saw 7 green bugs, 2 brown bugs,
and 1 red bug. How many bugs did
he see in all?

1. Tom caught 2 ants, 8 ladybugs, and
4 crickets. How many bugs did he
catch in all?

Super Teacher Worksheefs - www.superfeacherworksheets.com



Name: 2-Digit Addition without Regrouping

(' Addiion )

Find the sums.

: 3 2 > 4 4
+ 1 5 + 3 4

c 4 1 d 20 * 6 2 f 7 2
+ 10 + 29 + é + 2 6

° 3 4 " 5 ' 5 4 ’ 8
+ 2 3 + 6 1 + 20 + 1 6

. Ken has 25 toy cars.
Tim has 13 toy cars.
How many toy cars do they have altogethere

L Sara has 34 dolls.
She buys 3 more.
How many dolls does she have in all¢

Super Teacher Worksheefs - www.superteacherworksheets.com




Name: Addition: 2-Digit Addends

5 6 3 4 12
+ 6 3 + 4 4 + 8 5
[ |
|
]
e 4 6 56 5 0
.+ 3.9 +i29 + 3 8
| _}_""'—
I
o |
, 5 8 < 713 9 ' 4
+ 91 +1 7/ + 2|0
!

Super Teacher Worksheets - www.superteacherworksheets.com



Name:

Column Addition

)

Find the sums.

° 2377 * 69509
4,7 8 5 480
+2 388 +1,552
© 3322 ¢ 9708 °© 8832
459 8,078 4,7 83
4,1 8 1 7,7 68 456
+ 9 3 +8 171 + 5 426
o 4 ™ 7,130 " $3 670
6 5 8 2 3 $4,5 40
7 89 6,7 8 2 $6 11
+1,2 3 4 +3 355 +$3 54

. The International Space Station orbits the
Earth 5,475 times each year. Write a column
addition problem to find out how many times
it orbits the Earth in four years.

N
o~ N0 00N
o O O W

o O v -

$3 4
$4 3
$8 6
+ $8

o 00 AW
0 O W N

Super Teacher Worksheels - www.superfeacherworksheels.com




Name :
Teacher :

Score :
Date :

74
- 16

63
- 30

67
- 12

10

61
- 34

99
- 15

08
- 33

70
- 25

53
- 47

80
- 46

50
- 31

75

65
- 38

84
- 36

18

71
- 17

_ maE
%3] Math-Aids.Com B@ﬁ%

95
- 44

06
- 45



Name:

4 : N\
L Subtraction )

13 836 16 284
- 12 - 36 - 11 - 81
86 98 282 31
- 85 - 56 - 41 - 21
963 425 97 255
- 43 - 25 - 93 - 11
977 83 378 33
- 44 - 31 - 28 - 21
89 159 147 22
- 61 - 27 - 15 - 12

Created using the Advanced Subtraction Worksheet Generator on

Super Teacher Worksheets (www.superteacherworksheets.com)




Name:

4 : N\
Subftraction

. J
16 7 14 9 7/
9 5 16 10 14
.'_4 '_2 '_5 ‘_9 -9
19 4 18 10 23
-9 - 4 - 12 - 8 - 11
22 16 13 12 18
- 10 - 10 -8 -7 -6
11 4 18 12 16
- - 3 -7 - 12 -9

Time: minutes  Score: out of 25

Created using the Basic Subtraction Worksheet Generator on
Super Teacher Worksheets (www.superteacherworksheets.com)




Name:

12

1
N O~

N O

13

12
- 12

N

Subtraction h

J
15 19 19
-8 - 10 -9
17 14 19
=95 -2 - 12
4 16 17
-3 - 12 - 6
12 10 15
- 2 -3 -6
13 15 6
-2 - 10 =95

Time: minutes  Score:

i
N N0

N On

- 12

20

out of 25

Created using the Basic Subtraction Worksheet Generator on
Super Teacher Worksheets (www.superteacherworksheets.com)




Name: Subtraction: 2—di9iTs without Borrowing
= 6 7 ~ 5 6 ¢ 8 8
- 2 1 | - 4 5 . - 2 4
| |
| |
d- 519 ] | e 7 9 f. 9 2
- 2 6 - 3 4| - 6 0
I
i 4*_'
| | | |
5 0] " 6 3 - '8 5
-3 0 -1 1 - 2 5
i, 6 7 c 2.3 - 89
- 2'3 -1 2 - 5 6
|
l__,____ — — .
" |34 " 5 5 9 6
=12 2 - 2 5 -4 3

Super Teacher Worksheets —vaw.superreacherworlcheets.com



Name:

4 : A

L Subtraction )
372 462 602 323
- 244 - 75 - 31 - 211
356 326 641 573
- 112 - 324 - 4472 - 98
273 232 518 118
- 232 - 5 - 209 - 472
809 995 589 379
- 152 - /58 - 397 - 265
470 296 429 859
- 182 - 128 - 410 - 40

Created using the Advanced Subtraction Worksheet Generator on
Super Teacher Worksheets (www.superteacherworksheets.com)




Start at 200. Connect the dofs in the order of the answers below.

225 272
553 - 294
497 .
. 480 - 368
- 475 £ 392
. 40
435 435
50 74 25 34
X4 X3 X9 X8
42 46 92 98
X7 X7 X4 X4
45 54 87 75
X9 X8 X5 X6
95 60 71
XS X8 X7

Multiplying by one digit, with regrouping




9661 u[ sdn-deipy Supurea O

m % 8661 dﬂ—-ﬁﬂ.ﬁdu;ﬂﬂ-ﬂu,CQﬂOM
e P
5% sy 0% sg ounlSwddem ' —SESr 9% or suny Suddeim
swp aup uy i awp ———uy aum awp
=1IX¥ =¥X1 =€X1 | =0LXT =¢X1 =ZX 0L =1X¥
=1IX6 -  =¥X9 =EX¥ k =01x6  =e€Xy  =gxy - FIX6
=TIXII =pXZL =¢XO0L ! =0IXad  =€XO T =zxz  =IXI
=1IXZ =§X8 =€X9 ! =0LXS =€X9 =7X6 =LXt
=1LXTL =$XT =€X8 b T =0Ixe  =€X8 —=zxge  =IXU
]
=TLXS =¥X L =¢XZTL | =0IX0L  =€XI —=zxm  “IXS
=TLXO0L =§XS =€X§ b =0IXIWL | =€XS =zxs  “IXOr
=TLX L =pX 01 T =€XL ; =0LXT =€X4 =TXZ =IXL
! |
_— —_— _ ; J
=TLX€ =pX¥ =€X€ : =0LX 4 =gX¢€ =TX1 =IXE !
1_ ! |
=TLX8 =pX€ =€X?¢ m =0LXS =€XT =X =1X8 T
=1IX1 =$X 6 =¢X6 1 =00X9 ~ =€X6 —=gxo  =IXI m
=TIX9 =pXIL =¢XIlL { ~ =0IX¥ =zxs  =IX9
"4 LATHSHIOM ! .H.mmmmMMO%
> HSIOWAXH Y, ASIDNAXE
ONILI-IM QE<mm ONLLIIM DE<&
HNVN (1 1L%'e vAVA } # oL’e’21 nwﬁ




il Ec« -
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osson 2 Multiplication (2-digit by 1-digi)

. PRISM MATHEMATICS
- *'Red Book

Multiply Multiply
2 ones by 3. 7 tens by 3.
72 72 72 72
X3 X3 x3 %3
6 6 6
210 210
216
'_'-." - Multiply.
.oa b ¢ d € f
1. 62 73 92 84 53 42
L X2 X3 x4 X2 X2 %3
2. 23 31 42 12 33 42
- X2 X3 X2 X4 X3 X2
G
i
3. 21 61 51 43 8 2 13
4, 72 32 43 23 34 93
x3 3 x3 x3 x2 x2
. Lesson 2

Muttiplication (2-digit by 1-digit)
133

CHAPTER
10

I




NAME
Lesson 3 Division (facts through 27 + 3)

3 - > 3 4 e > 4

X2 > 2)6 X3 > 3) 12

6 o __J A 12 __________A

If2X 3=6,then6 + 2 = 3, If3x4=12,then +3=

Divide as shown.

i a b

o1 5 5 6

-l x2 2)10 X3 3)18

10 18

i

f 2. 7 T3 8

X2 2)14 X3 3)24

[ 14 24 ]

.L

8. 1 3 c I

| x2 2) 2 X3 3)9 == 0

I 2 °] (:5 b

|'[' ;

- |

I -4, 8 9 ! :'

r x2 2)16 x3 3) 27 |

16 27

" Divide.

Il.

' a b (&4 i d

E ,

5. 3]15 2)6 3)3 3) 6

E |

1 |

6. 3)21 2)18 2)8 2)12

g 5
N .H'. :

E PRISM MATHEMATICS Lesson 3 > ﬁ

Red Book

Division (facts through 27 + 3).
143




2116

4 W

Remember?
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Rules for BEDMAS

B Brackets: () and [ ] Do round brackets first, square
brackets second

E Exponents: 3% or 7% or x° or m? - the small numbers are

-
I

I

I

.

— Do whichever comes first in the equation

A  Addition + N\

— Do whichever comes first in the equation

S Subtraction -

I M Multiplication X 7

EXOMP\ESS
o 2L=(2v)+3-10 @ 24 -2 % 2.+ 19:= {9
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‘NUMBER EXPRESSIONS

2.1 ORDER OF OPERATIONS (BEDMAS)

CHAPTER 2 - NUMBER EXPRESSIONS

Centuries ago, it was decided by mathematicians from all over the world that all nations must
follow the same rules when calculating number questions. This was decided so that all answers for

the same questions from different countries would be the same.

OPERATIONS that these mathematicians decided to follow are as follows:

b S

Do the calculations appearing in the parentheses first.
Do any calculations that involve exponents next.
Calculate the multiplication and division next.
Do the addition and subtraction last.

The rules, or ORDER OF

One method we use to remember the order in which we do mathematical operations is to use the

acronym (first letter of each word) BEDMAS as shown in the chart below.

BRACKETS

E

EXPONENTS

D

DIVIDE

M

MULTIPLY

A

ADD

S

SUBTRACT

The examples below show the procedure followed solving questions involving multiple operations.

1. If addition and subtraction occur in the
same expression, perform the operations in
the order in which they occur.

EXAMPLE: 11 +4 -5 +2
15 -5+2
10+2 =12
2. If multiplication and addition or

subtraction occur together, perform the
operation of multiplication first.

EXAMPLE: 16 + 3 x4 -2 x3 + 3

16 + 12 -6 + 3
26 - 6 + 3
2 + 3 =25

3. If division and addition or subtraction
occur together, perform the operation of
division first.

EXAMPLE: 9 + 16 =4 -2
9 + 4 -2
13 -2=11

4. If multiplication, division, addition or
subtraction occur together, first perform the
multiplication and division in the order they
occur and then perform the addition and
subtraction.

EXAMPLE: 6 x4 -8+ 5
24 - 8 +5
3 + 5=28

5. If brackets occur in a number expression,
perform whatever operation is enclosed in the
brackets first, then follow the rules above.

EXAMPLE: 12 (9 -5) x2
12 + 4 x2
3 x 2=6

6. If a line such as we use in division or
fractions occurs in a number expression,
evaluate the numerator (top part) and the
denominator (bottom part) before dividing.

EXAMPLE: 7 x4 +2 _ 30_ 10
2+3=3 3

15



Name- Date-
Order of Operations
: . O+3%x 4~ Ho | B+ - .
49+ (1-9)- 7 erh
15+ 21+ 'q 03 = —«‘«-i, Q‘O ~\+\0—) = \%
I4:2x2=2. F+Bo-15%3= [0 [267 (3x3)+d =

(ongl"_DX(o:L‘\e)

\8_2Xq+|5=\%

G+ 20— 1% 1|0




Name- . Date-

. Order of Operations
56T 8§ X412 5+3 X2 -4 (ot P *(q-3)+10
(10t 26-6)% 10-2 | gx(Uxio-4) +5 Exd 2 x 3
|A+2c— 154 3 (13+3) x (12+2)+S [ (B+3)+ (B+io +4)

2x(qx23+9) -4 (Qrun-4) 24 + 4 -2+ 18-3




Skill: Order of Operations

Equations

Show your work on another
sheet. Write your answers
here.

Total Problems 50

<« Problems Correct
4. 5+6 -4 =
3. 32 -8 +3 = 5, 6+8x3=
6.14 + 12 - 6 = 7. 2x9 +4-= 8. 8x84+6=
9. 5+8+2-= 0. 6+6+6= M. 45+5x3 =
12. 9 +7 - 10 = 13.v15x2+3= 4. 3x7-1=
45. 18 - 9 x 8 = 46. 36 + 9 + 8 = 17. 24 =7 + 6 =
48. 7 +8 -8 = 19.9 + 6 — 12 = 20. 12 +7 -8 =
21. 56 + 8 + 4 = 22. 64 - 8 + 6 = 23.14 + (2 x 8) =
2. (7+9) +2-= 25. 15 = 3 x 2 = 26. (5+3) x 3 =
27. 15-7 +3 = 28.(3+7) x2+ 10 = 29. 6+8+2=
30. 3 x5+ 6 = 3. 12 x2+ 2= 32. 15 +3 x2 =
33.14-8-2-1= 34.16 - (10 - 4) = 35.(14 + ) + 5 =

36. 3 +2) x (4 +6) 37. 12 x @B +2) = 38.9 x (15 - 7)

39. 6 x (4 + 95) 40. 3 +6x2+5 41. 8+4 x5

43.30 + 16 x 2

42. 6 x8 +2 44. 3 x 9 + 2

]
]
it

45.52 - (5 + 3) 46. 64 ~ 8 x 3 47.25 - (3 + 8) =

48.21 - (3 + 4)

49.12 + 32 + 4

50. 16 + (4 x 3)=

With practice, you can do it!

Math IF8744 Q8 © 1990 Instructional Fair, inc.



Equations

Show your work on another
sheet. Write your answers
here.

1. 2+7 -3 = 2,

3. 4+6-7-= 4,

6. 10 -7 + 6 = 7. 36 +6+4
9. 5x5-95= 10. 12 +4 + 7
12. 13 +6 -7 = 413. 14+ 2 x 3
15. (16 + 9 + 5 = 6. 9 x4 + 6
18. 5+5x3 = 19. 6 x 6 + 12
21. 6 +12 + 2 = 2. 9x3+4
24, 64 + 8 + 9 = 25. 16 +2+9
27.16 + 18 - 8 = 28. 14-7+3
30. 24 - 6 x 7 = 3. 32 +8x5
33. 9x9+6= 34. 13 +5-7
36. 7+ (3 x9 = 37. 6+ (2 x 4)
39. 9+9x2= 40. 6x3 +4
42,16 + 18 - 7 = 43. (60 + 5) + 4
45. 9 x 9 + 12 = 46. 32 -+ 4 -3
48. 6 + 9 -7 =

49. 8 x99+ 7=

50. 8 + 3 x 8 =

Math IF8744 Q7

Skill: Order of Operations

Total Problems _ 50

Problems Correct

5. 6 x4 +12 =
8. 7x4+2=
11. 6+9 -3 =
14. 4+ 8 -7 =
17. 3 x 9 -17 =
20. 12 +7 -9 =
23. 929+6-8=
26. 18 -2 x3 =
29. 6x7-6=
32. 16+4+2=
35. 16 +3 x2=
38. 4 +8)+2-=
44. @ + 16) + & =
44. 36 + (4 x 8) =
47. 12 + 3 x 9 =

Success ahoy! Just practice!

© 1990 Instructional Fair, Inc.



@S Moorman (Teaching in Room 6), 2012
g = T b jcepon = T 9 3 i@ s o

~ Directions:

Secret Spring Code

t¢ Ckpressions <

" Yobr code should spell a Secret Spring Code!

2y [~ 5] W NTRY

TR, &

ST R 4UH T OGTMOOOO® X

TE R bus

(6+3)-5
(10x2)-10
16 + (56 + 7)
30 + (15 - 10)
(32+-8)+4
41 - (13 x 2)
29 - (48 + 4)
8+1)X3
(77+7)X 3
33+(20-9)
(5 +15) x 2
103-(9x9)
(15X1)=+3

NXXg<CAHW®HOOZ

__ http://teachinginraomb. blogspot.com

(19x5)+5H
44 + (16 - 12)
(72+9)x 2
12 x (4 + 2)
(81-9)-9
144 - (3 x 4)
(3+1)X8
5+5)X3

27 - (108 = 12)
35+ (45+9)
120 - (10 X 10)
30+(9 - 4)
(63:-7)X 4

16 0 33 22 12 27 11 7 1

0 12

Sohve each expression belot. Then, once each leTter ks a nomerical valve, write The letter above the nomber.

i 10

O 331917 5 4 35 15

22 11 7 1

19 6 1 18 1 0O 35 32 27

[ 33

19 1022 11 11 5

33 19 17 12

0 12



